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QID : 201 - In the following question, select the related word from the given alternatives.
Tailor : Needle : : Woodcutter : ?
frfafea me A fog Mg foredt # & & 2o At g

oo : gE : : FAhSegRT: ?
Options:

1) Sword

EEEIN

2) Chisel
Xl

3) Axe

Fegret

4) Plough

gl

Correct Answer: Axe

Candidate Answer: Axe

QID : 202 - In the following question, select the related word from the given altern

Scissors : Cloth : : Axe : ?

frfafed mer & Ry Tq foeredt 7 § Hefad e &1 gi- )

&t : ot : : Fewrt i ?
Options:

1) Stone

TeR

2) Wood

SEx

N

3) Hunt
R

4) Vegetables
gfssrar

Correct Answer: Wood

Candidate Answer: Wood

QID : 203 - In the following question, select the related letters from the given alternatives.
PQRS:QSUW::ABCD:?
feafafEa uy 8§ Ry g faehedt & € Hefa s1eri st gl

PQRS :QSUW :: ABCD:?
Options:

1) BCDE
2) BDHF
3) BDG

4) BDFH
Correct Answer: BDFH
Candidate Answer: BDFH
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QID : 204 - In the following question, select the related letters from the given alternatives.
REKM : UHNP : : PKDL : ?

FfafEa w8 Ry 71g faehedt & € Hefa s1eri st gl

REKM : UHNP : : PKDL : ?

Options:

1) SNGO

2) SGNO

3) SNOG

4) MHAG
Correct Answer: SNGO
Candidate Answer: SNGO

QID : 205 - In the following question, select the related number from the given alternatives.
5:26::8:?
frafafea ue & Ry 1y foeredt & § wefda g &t gfg

5:26::8:?
Options:

Correct Answer: 65
Candidate Answer: 65

QID : 206 - In the following question, select the related number from the given alternatives.
5:125::11:7?
frfafea v & Ry 1y faedt & § wefda g & gfg

5:125::11:?
Options:
1) 1231
2) 1331

3) 1441

&

the given alternatives.

4) 1551
Correct Answer: 1331
Candidate Answer: 1331

QID : 207 - In the following question, select t

frafafed wer A Ry g foeredt # & o aree &t

Options:

1) Almonds
ElHes

2) Cashewnut

PIS]
3) Walnut
@RI

4) Potato

ki

Correct Answer: Potato
3T,

Candidate Answer: Potato

3

QID : 208 - In the following question, select the odd word pair from the given alternatives.

FrfafEa w8 e 77g faredt 7 & foww <reg g &l gg)



Options:

1) Time : Seconds

Y : epve

2) Speed : Km/hr

T : fon ot /e

3) Electric Current : Ampere
farega v : YRR

4) Temperature : Kelvin
dTgAT ©

Correct Answer: Speed : Km/hr

T - fon /e

Candidate Answer: Speed : Km/hr
ey : fop.#./der

QID : 209 - In the following question, select the odd letters from the given alternatives.

frafafaa v & Ry 7y feredt & @ fwm sreri &t gl

Options:
1) BDGK
2) XZCG
3) TVYB
4) NPSW

Correct Answer: TVYB
Candidate Answer: TVYB

QID : 210 - In the following question, select the odd letters from the given alternatives.

ot wer 7 Ry g foeredt & & R s1art &t gfg)

Options:
1) RS

2) VW
3)CD

4) TV
Correct Answer: TV
Candidate Answer: TV

QID : 211 - In the following question, select the odd number from the given

frafefea wer 7 g g et # @ fawm dw &t gl

Options:
1) 347

2) 124
3)782

4) 479
Correct Answer: 782
Candidate Answer: [ NOT ANSWERED ]|

QID : 212 - In the following question, select the odd number pair from the given alternatives.

fefafEa w8 R g faeredt § @ fowm g gt gl

Options:
1)41-43

2)61 - 67
3)71-73

4)83-97
Correct Answer: 83 - 97
Candidate Answer: [ NOT ANSWERED ]



QID : 213 - Arrange the given words in the sequence in which they occur in the dictionary.

1. Brain
2. Brand
3. Beep
4. Boxer
5. Boxed

frfafad el &t sreentsr & 11 aTel o & SIER ford|

1. Brain

2. Brand
3. Beep

4. Boxer
5. Boxed
Options:
1) 35412
2) 45312
3) 34512
4) 43512

Correct Answer: 35412
Candidate Answer: 35412

QID : 214 - Arrange the given words in the sequence in which they occur in the dictionary.

1. Wrong
2. Write
3. West
4. Wind
5. Walk

frfafad el @t 2reaenter & 11 aTel o & IIgER ford|

1. Wrong
2. Write
3. West
4. Wind
5. Walk

Options:
1) 53412

2) 53421
3) 43512

4) 54312
Correct Answer: 53421
Candidate Answer: 53421

QID : 215 - A series is given with one term missing. S rnative from the given ones that will complete the series.

AD,G,J,?
e 3rehH o ma B, O § e U e 81 g g [Genetl 8 @ o 98t fiehed g, St srgsh ot g el

A DG, J,?
Options:

1) N

2)0

3)M

4)L
Correct Answer: M
Candidate Answer: M

QID : 216 - A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.
AB10, DF101, GJ290, ?
e S1IeRH foar T 8, e § e Ue g 81 g g fenetl § § a8 98t fadhed gfg, St srgehd ol g el

AB10, DF101, GJ290, ?
Options:

1) DE8O

2) JM580

3) UN577

4) JN359

Correct Answer: JN577



Candidate Answer: JN577

QID : 217 - In the following question, select the missing number from the given series.
1,4,13,40,121,?

frafafea v 8 Ry g et § & g sie 71d AifSml

1,4,13,40,121,?

Options:

1) 284

2) 286

3) 364

4) 396

Correct Answer: 364

Candidate Answer: 364

QID : 218 - In the following question, select the missing number from the given series.
84,42, 44,22, 24,12,

fafafea vy 8 Ry 7 el & @ g ofe 1 hifsg

84,42,44,22,24,12,?
Options:

1) 20
2)14
3)24 i,

4)28
Correct Answer: 14 —
Candidate Answer: 14 (

QID : 219 - Amit's present age is 5/4 of his age at time of his sister's marriage. If hi 'S\iiarriage happened 5 years ago and his father's age was twice of Amit's

age at that time, then what is his father's present age (in years)?

SR Y FdH 1Y IR T5 i AT & THT Y 3G i 5/4 &1 A I

TIAT 317y (T F) R 8?
Options: \
1) 55

2) 45

&% oft T 3U THg 35 T Y Sy Stfia Y myg et ST oft, I 3Tk e

3) 50

4) 40
Correct Answer: 45
Candidate Answer: 40

QID : 220 - Six games are kept one on top of the other.Uno is just above Snakes & Ladders. The Monopoly is between Ludo and Chess. Carrom is between Uno and
Ludo. Which game is between the Carrom and Monopoly games?

BE Tl Y Tk h HUR Yeh @1 TR &1 FAt, TT-2fig) & ek H0R &1 T=taiedt, ST a1 2rast & 7ed &1 e, T JUT ISt o Hed §1 S a1 ATl & 77 o a1 | 82

Options:
1) Uno
St

2) Chess
AL
3) Carrom

4) Ludo
Correct Answer: Ludo
Candidate Answer: Ludo

QID : 221 - Present age of a father is 3 times that of his son. After 10 years the son’s age will be 5 times of Raman’s present age. If Raman celebrated his third
birthday 2 years ago, then what is the present age (in years) of father?

Qe O &t a1 3G ek Gt <hl <191 T &1 10 IS &1G G hi 311, I hl atAT 31 T 5 TAT BT | AfE T = 70T 1R AT 2 a9 Uget A1, af i &t e oy (ast #)
T E?



Options:

1) 45

2) 40

3) 36

4) 39

Correct Answer: 45
Candidate Answer: 45

QID : 222 - In the following question, select the word which cannot be formed using the letters of the given word.
Precipitation

FrafafEa sl 7 @ g 2ree gAY St 3 7Y rea & S1&RT o1 TRINT ek g1 ST 1T SehdT|

Precipitation

Options:

1) Reaction

2) Patient

3) Reacts

4) Petition
Correct Answer: Reacts
Candidate Answer: Reacts

QID : 223 - In the following question, select the word which cannot be formed using the letters of the given word.

Imprisonment
fafafea el & @ ag 2T g St Ry g 2ree & S1erRY o1 TRINT ek 81 ST ST FehdT|

Imprisonment 7
Options:
1) Prison

2) Sonnet
3) Impression

4) Moment
Correct Answer: Impression
Candidate Answer: Impression

QID : 224 - In a certain code language, "BALL" i

T fafre dis wmor &, "BALL" @t "27" forar sial &

Options:
1) 50

ritten as "23". How is "YELL' written in that code language?

2139 Shts 9TST & "YELL" &t fhg wenR forar sirgem?

2)39
3) 54
4) 61

Correct Answer: 54
Candidate Answer: 54

QID : 225 - In a certain code language, "RENTED" is written as "718314" and "SCARF" is written as "92576". How is "CARTED" written in that code language?

e fAfE wis o &, "RENTED" @t "718314" foraT ST1aT & T "SCARF" &Y "92576" foram STTdT &1 39 @i o1 # "CARTED" &t fhe uenR formar smaem?

Options:

1) 257314
2) 962514
3) 237614
4) 759613

Correct Answer: 257314
Candidate Answer: 257314

QID : 226 - In the following question, by using which mathematical operators will the expression become correct?
7?74?75?7165?5
fFafafeEa uyr , w1y et & o it dftharsit o1 uahT e & e wan efienzor T8t 8t semm?

7?74?75?165?5



Options:

1)+ + +and =

+, 4, +dUT=

2) x,%,=and +

X, X, =dYUT +

3)x,+,=and +

X, =dYgl +

4) x,+,=and +

X, +, = ddT +

Correct Answer: x, +, = and +
X, +, = ddT +

Candidate Answer: x, +, = and +
X, +, = ddr +

QID : 227 - In the following question, correct the equation by interchanging two signs.
24x8+9+9-10=26
fffEa usr 7, g &) vt Tftharett st smuw & seae Ry Ty Tefieror st wgt hifsigl

24x8+9+9-10=26
Options:

1) +and -

+ddr -

2) +and x

= AT x

3) xand -

X qYgT —

4) x and +

x dd7 +

Correct Answer: + and x
= AT x

Candidate Answer: [ NOT ANSWERED ]|

QID : 228 - If 21 (49) 14 and 159 (169) 146, then what is the value of 'A'in 56 (A) 442

afe 21 (49) 14 A1 159 (169) 146 &, d@t 56 (A) 44 §, 'A' T HH FIT §T?
Options:

Correct Answer: 144
Candidate Answer: [ NOT ANSWERED |

N

QiD:229-1f23 # 43 @33 =45and 33 # 53 13=2

a2 #43@33=45qMB3#53 @43 =
Options:

Correct Answer: 71
Candidate Answer: [ NOT ANSWERED |



QID: 230 -
In the following question, select the number which
can be placed at the sign of question mark (?7) from
the given alternatives.

foFaforrag e # for or foeeut & @ wy e
(?) & FTUH T H grel FEAT FH gAT|

2 7 6
4 1 4
3 2 3
5 4 ?

Options:

1)1

2)2

Candidate Answer: [ NOT ANSWERED |

3)3 [
a4 . —
Correct Answer: 1 ( )

QID:231- )
In the following question, select the number which ( z
can be placed at the sign of question mark (?) from >
the given alternatives.

Sreafefa oy & fr oo Reeut # @ ux
(?) & TUT UT HT arelr &0

2 4
5 3
2 3

Options:

1)7

2)8

3)9

4)10

Correct Answer: 10
Candidate Answer: [ NOT ANSWERED ]



QID : 232 -

How many quadrilaterals are there in the given
figure?

& S e # e agee ¥

AVAVAN
VVV

Options:
1) 14

2)15
3)17

419
Correct Answer: 17
Candidate Answer: [ NOT ANSWERED |

QID : 233 -

How many triangles are there in the given figure? O
& 7% e # frde Be= €2

Z

Options:
15

2)7
3)8

4)10
Correct Answer: 7
Candidate Answer: 7



QID : 234 - In each of the following question below are given some statements followed by some conclusions. Taking the given statements to be true even if they
seem to be at variance from commonly known facts, read all the conclusions and then decide which of the given conclusion logically follows the given statements.

Statements:
I. All boys are smart.
IIl. All smart are thin.

Conclusions:
I. All boys are thin.
IIl. All smart are boys.

2 Ry e v U § o e ofR 3% 18 39 H IR SneTRa oo sy g e €, graifes S wm Fra Jeat @ e g Tendt &1 et frsen ud ofik fiRr fRefRa &R o i
MY ot & fsend, R g sheri & MR W gRAETa &1

<hyY-:
. goft ek gfgmm &
1. Foft A vt 81

fArseptf:

. goft e uaat €1

1. 9+f gfigam e &1

Options:

1) Only conclusion (1) follows
0]

2) Only conclusion (11) follows

haet fsey (1) Ter &

3) Both conclusion follow

4) Neither conclusion (1) nor conclusion (Il) follows

T at Freend (1) 3R 7 8 fsemd (Il) @l @

Correct Answer: Only conclusion (1) follows

e ey (1) T8t 8

Candidate Answer: Only conclusion (1) follows

et ey (1) T8t 8

Vi

QID : 235 - In each of the following question below are given some statements fo,

. N
‘;some onclusions. Taking the given statements to be true even if they
seem to be at variance from commonly known facts, read all the conclusions an

cide whith of the given conclusion logically follows the given statements.

Statements:
I. All cups are pencils.
Il. Some pencils are pens.

Conclusions:

I. Some pencils are cups.
Il. No pencil are cups.

Ill. Some cups are pens.

2 g 7T v gy # 5o wmeA 3R 3k a1g I+ Sl
MY 4 § e, g 7Tg e 3 SmeR oR gk &

g 7y &, gretifoh S A 1 qal @ fAadr g Tendt &1 Tl fse ud ofk foRr fRaifa o o i

hYH:
. gft v Ofd &1
Il. 3o Ui T &1

fAreep:

. 3 U & &1

1. Y Uit s =1t &1

Il. S &Y o &1

Options:

1) Only conclusion (1) follows
e (1) wet 8

2) Only conclusion (l1I) follows

Shaet fsend (11l) TEt 8

3) Only conclusion (1) and (11) follow

haet fAwend (1) aur e (1) T8t §

4) Only conclusion (I1) and (1I1) follow

Faet fseR (11) e fsee (111) 8t 8

Correct Answer: Only conclusion (1) follows

aharer el (1) Tt @

Candidate Answer: Only conclusion (1) follows

aharer el (1) Tt @



QID: 236 -
From the given options, which answer figure can be
formed by folding the figure given in the question?

et Rt & @ o @ 9% I o
# & % NP T FAEH TS S Fepar ¥7

Options:
1)
N

Q

o

o |Q

Correct Answer:

N

R

P

Candidate Answer:

N

Q




QID : 237 -

Two position of a cube are shown below. What will
come opposite to face containing ‘B'?

= o g i & HaEyw AT W €1 B g
FoAd & Oullg Far HEem?

F A

A C

Options:
1)C

2)E
3)F

4) A
Correct Answer: F
Candidate Answer: F

QID : 238 -
In the given figure, how many wooden plates are O

there?

& 7 Pl &, Rrae wmd A Wi 2

Plates/cre 7/\
2

6
/11474

12 35

Options:
1) 30

2) 47
3)36

4) 28
Correct Answer: 47
Candidate Answer: 47



QID : 239 -

In the given figure, how many sour fruits are there?

& F Ty A, fraa e v 2

Sour/@cET —» 16 14 13
29,24
21
.‘_
15
Options:
1) 27
2) 53
3) 50
4) 43

Correct Answer: 43
Candidate Answer: 43

QID : 240 -

Fruits/omet

Green/gqT

In the given figure, how many moving cars are not

red?

& T FEfa A, BT @ 3w afamEa ert S e

aE & @ gfar &2

Cars/&TL —»

Options:
1)22

2)17
3)12

4) 29
Correct Answer: 12
Candidate Answer: 12




QID: 241 -
Which answer figure will complete the pattern in the
question figure?

Hie W 3 JFA 0 Hpla & viaww F Q@
FHLM?

Options:

N

N
—

Iergm

Correct Answer:

4

Candidate Answer:

4




QID : 242 -

Which answer figure will complete the pattern in the
question figure?

BT T IR AP TH AT & UAeT & I

FHLAM?
? [ \e
Options:
1)
(o]
2)
o
3)
o
4)
(&)
Correct Answer:
(¢}
Candidate Answer:
O




QID : 243 -
From the given answer figures, select the one in
which the question figure is hidden/embedded.

& 9% 3R HPadl H H 38 9 AF B g
orm & uy gl BT &

_/]

Options:

1)

hd
| A
| X
4)I\/I

Correct Answer:

DA

Candidate Answer:

DA




QID : 244 -

From the given answer figures, select the one in
which the question figure is hidden/embedded.

& 7% SR Al # ¥ 3§ s e # gw
| # ur argfla Bfea &

A

]
AV

)

TN

&

Correct Answer:

®

Candidate Answer:

®




QID : 245 -

A piece of paper is folded and punched as shown
below in the question figures. From the given
answer figures, indicate how it will appear when
opened?

f=r & un FEad A BT FgER e @
ABHT Teed JUT Wikt & dIc 98 opH X AP
s g gem?

I

Options:

1)

N
—

ElEpEL=E

w
~

H
=

Correct Answer:

=

Candidate Answer:

=




QID : 246 -

A piece of paper is folded and punched as shown
below in the question figures. From the given
answer figures, indicate how it will appear when
opened?

f & wy A # @ 3gER Fee o
A=t Ve IUT G F I g9 FE 9T A
s s gam?

@) € ||

Options:

1)

o
O
o

N
—

w
~

»
=

o
0]
o

Correct Answer:

o
o o

O

Candidate Answer:

O
oo

O




QID : 247 -

If a mirror is placed on the line AB, then which of the
answer figures is the right image of the given
figure?

ofy m UUT @ AB I@ W T AW, & & T

TR AGAAT # @ B O g uy el &
e ufafesa gefre

Dl

Options:

1)

N
—

(K| &) [

»
=

Correct Answer:

A

Candidate Answer:

%,




QID : 248 -

If a mirror is placed on the line AB, then which of the
answer figures is the right image of the given
figure?

Ifg e gdurT Fr AB I@T WX T@T AT, 4t & T
TR Agadl # T wiT W gy vy e &

wer ufafesa gefre

A< B

Options:
1)

N
—

= K] X |

w
~

S
=

Correct Answer:

P

Candidate Answer:

P




QID : 249 -

A word is represented by only one set of numbers as given in any one of
the altematives. The sets of numbers given in the altematives are
represented by two classes of alphabets as shown in the given two
matrices. The columns and rows of Matrix-l are numbered from 0 to 4 and
that of Matrix-ll are numbered from 5to 9_ A letter from these matrices can
be represented first by its row and next by its column, for example, ‘S’ can
be represented by 00, 24, eic., and ‘N’ can be represented by 66, 97, etc.
Similarly, you have to identify the set for the word “SOIL”.

UE 9leg Had U HEA-HIAT G guim W R, S T fasedt & &
o v & e wrn ¥ Reedt & Re ov dwgrgsy #ewi & o gt
aRT gute aw ¥, S iR BT oaw @) segel A R ey & e AR
ufth 1 FEa 0 & 4 § 3 snegell £ 5 F 01 53 3R F v HaW A
URd 3O Uftn 3R g & TN ST g0 oI ST §hd &1 Ioreor
& faw ‘s @ 00, 24, I e gl S w@Ha ¥ FWw N- & 686, 97,
g err gufr @1 Gaan ¥ S e § HuS oA & R sy “SOIL”
& for @Hg & e 8

Matrix-I Matrix-1l
Y
oj1(2[|3(4
O|S|Y|E|Q]|O
1]1Q|O[S|Y]E
2|Y|E|QJO|S
3|0|S|Y|E|Q
4| E[Q|O[|S]Y

Options:
1) 12,42,57,95

2) 00, 30, 68, 58
3) 43,04,87, 69

4) 24,11,98,76
Correct Answer: 43, 04, 87, 69
Candidate Answer: 43, 04, 87, 69




QID : 250 -

A word is represented by only one set of numbers as given in any one of
the altemmatives. The sets of numbers given in the alternatives are
represented by two dasses of alphabets as shown in the given two
matrices. The columns and rows of Matrix-l are numbered from 0 to 4 and
that of Matrix-ll are numbered from 5o 9. A lefter from these matrices can
be represented first by its row and next by its column, for example, ‘A’ can
be represented by 04, 22, eic_, and ‘0O’ can be represented by 59, 98, eic.
Similarly, you have to identify the set for the word “TRUMP”.

TE g O U WEA-GAE G gutar JEn ¥, 3 5 Rwedt & @
fordlt v & femm omm ¥ Fwent & v oo dwmraes HERt 6 ogr aut
aRT guiT aw ¥, S 5 R oaw @ et & § aneypl & owaew R
afth & TEA10 & 4 & 3R YRl 15 F 91 5 YRl F vE HaW A
gl 38 Ufth 3R alg A T ST GRS ST Whal &1 SaeAOr
¥ forw "A* @104, 22, T gRT gURT S WHAT & TA O° H 59, 98,
fE e gakmr & wear B s G @ o uw & Ry e
“TRUMP” & fow @afg & aeeran &I

Matrix-| Matrix-lI

g el
0112|334
0|S|R|E|T[A
1|RIA|S|E|T
2|T|IE|A|R|S
3|/A|T|R|S|E
4  E|S|T|A|R

Options:
1) 20,01, 57, 68, 58

2) 42,44, 89,99, 88

3) 03, 23,96, 67, 69

4) 31,10, 65,76,79
Correct Answer: 42, 44, 89, 99, 88
Candidate Answer: 42, 44, 89, 99, 88

QID : 251 - Which one of the following is tr

fFafofea d 9 i a1 ey AfdT sifaaar &

Options:

1) Existence of both developed and underdevelope:

faeRfRra qa sreufienfla At & o1 sifee & g

2) Equal importance to agriculture and industry
TUT FY ! T 75

3) Existence of both public and private sectors in national economy

T srefegeren & Arduifes aut fsft ST &t o srfae & g

4) Equal partnership of central and states in economic planning and development

3t o frehTey Tt & dhe 2T Tt Y SRTER Y AR

Correct Answer: Existence of both public and private sectors in national economy

T Srefegeren | Ardei-es aut fsft ST &t sfae | g

Candidate Answer: Existence of both public and private sectors in national economy

¥ arefegeren § grdwifAe aur fAsh G4 & @1 sifcae | g

QID : 252 - Which among the following is the most appropriate measure of an economic growth of a country?

foreft Zar it aifefen fererma ot AT & forg AfEfofea A @ 9o SfRia A ar 8?



Options:

1) Net Domestic Product
UG T 3G

2) Gross Domestic Product
Hehel T TG

3) Per Capita Income

ufd aafs ey

4) Net National Product
U VTET TS

Correct Answer: Per Capita Income

ufa aafs emg

Candidate Answer: Net National Product
U VTEN TS

QID : 253 - Green revolution was introduced in which Five Year Plan of India?
R4 wifa TRa Y for Taasia g & R Rey &t 1T oft?
Options:
1) Seventh
radt
2) Fifth
S
3) Second
4) Third
RN
Correct Answer: Third

Candidate Answer: [ NOT ANSWERED ]

QID : 254 - Who among the following is the ex-officio chairman of the NITI Aayog in India?

frffea & & e wRa & Aify smaT 1 v sremer 82

Options:
1) President

2) Prime Minister
YT

3) Vice President
34

4) Finance Minister

Correct Answer: Prime Minister
AT

Candidate Answer: Prime Minister
e

\
QID : 255 - How many Miniratna compani

Soft — | # forat ke Shufat 82

Options:
1) 55

2) 56
3) 59

4)47
Correct Answer: 59
Candidate Answer: [ NOT ANSWERED |

QID : 256 - Who is the father of 'Utilitarian School of Thought'?
‘RN et Sifth e’ & STk i &2

Options:

1) Hegel

Gl

2) Bentham

EERL]

3) James Mill

St fret

4) Locke
dleh

Correct Answer: Bentham



Candidate Answer: [ NOT ANSWERED ]

QID : 257 - Which of the following is not a good argument in favour of democracy?

I. Democracy enhances the dignity of citizens
Il. Democracies are more prosperous than others
Ill. Democracies resolve conflicts in a better way

frfafed ? & i dichd™ o UeT H Toh 3resT adh 81 o7

|. Arehes TRTRERT & TR Y TSTT &
I1. Sends qERl & S1fdes Tg &

I11. Siehe™ fIaTe ol S5aR a<ich @ GersATen &
Options:

1) land Il

Iaarll

2) Only 11l

el

3) Only Il

Fad Il

4) lland Il

Ia

Correct Answer: Only Il

Fad |l

Candidate Answer: Only Il
& Il

QID : 258 - What is a voluntary union of sovereign and independent states called?

Options:

1) Federation
g

2) Unitary state
UehTcHh I

3) Confederation

4) None of these
g
Correct Answer: Confederation

Candidate Answer: Federation
g

QID : 259 - What is the minimum age required

ARG T T&T T o folg RIATH S11g R 81+l Afey?
Options:

1) Twenty years

i ad

2) Thirty years

g

3) Twenty two years
IET Iy

4) Twenty five years

T

Correct Answer: Twenty five years

T

Candidate Answer: Twenty five years

T aef

QID : 260 - Who among the following declares National Emergency in India?

ffafEa 7 @ o wRa & Tl suTadhret S et 82
Options:
1) President

2) Prime Minister
PRICEEl

3) Central Council of Ministers

4) Supreme Court of India
IRdg gatea =g

Correct Answer: President



Candidate Answer: President

QID : 261 - Indian Constitution contains how many schedules?
TR Tidem & fora T srggfeai 82

Options:

1) Ten Schedules

% srggfar

2) Twelve Schedules

IRE Srgfar

3) Fourteen Schedules

4) Eight Schedules
3TS gyt

Correct Answer: Twelve Schedules
IR

Candidate Answer: Twelve Schedules
IRE Srgfar

QID : 262 - Which of the following articles relates to 'abolition of titles'?

PreffRT sredel § @ o a1 orgede ‘SuTfirat & of § wdfd &7
Options:
1) Article 51

3gBe 51
2) Article 50
TS 50

3) Article 18
TS 18

4) Article 32 ) )

Correct Answer: Article 18 )

"OJ

Candidate Answer: Article 18
Glat_e}'c{ 18

QID : 263 - How many members of Lok Sabha are nominated by the President?,

efer @1 & AUy & gRT fhas Gewr 7 fohg wira 82

Options:

1) Two members
HEEs

2) Three members
I g

3) Eleven members
g 9e¥™

4) Twelve members
IRE de™

Correct Answer: Two members
A e

Candidate Answer: Two members
3 T

QID : 264 - Which of the following pair is INCORRECT?

fafafea 8 © @ a1 g™ e 82
Options:
1) Hiuen Tsang - China
g & - 4=
2) Ibn Battuta — Morocco
ESEGGIE
3) Magasthenes - Greece
- %T:[

4) Fa-Hien — Malaysia
; - HaAfwr

Correct Answer: Fa-Hien — Malaysia
- HaAfwr

Candidate Answer: Fa-Hien — Malaysia
- HaAfwr

QID : 265 - Who among the following started Bengal weekly newspaper ‘Samvad Kaumudi' in year 1821?

T 1821 H STTelt TtTger THMER U5 Harg sl Ffaifad 7 @ forem = forar am?



Options:

1) Raja Ram Mohan Roy
TSI T Wi I

2) Aurobindo Ghosh
SRifem aw

3) Ramkrishna Paramhans
AR RAGH

4) Debendranath Tagore
aeATy AR

Correct Answer: Raja Ram Mohan Roy
TSI T g AT

Candidate Answer: [ NOT ANSWERED ]

QID : 266 - The Vijaynagar ruler Krishna Dev Raya's work ‘Amuktamalayada’ was written in which language?

FAISTITR & ST FWRERTT 6t T 'SR fohg e # fordt md 82

Options:
1) Tamil
afme

2) Malayalam
HeAgTe™

3) Kanada
RS

4) Telugu

Correct Answer: Telugu [

D

Candidate Answer: [ NOT ANSWERED ]|

QID : 267 - Idol of dancing girl (Bronze) is found in which of the following civilzation?

Tfeht <t gfe (ertem) F=foifEa & § fore e & orft it 82 .
Options:
1) Mesopotamian Civilization -
o ( ?
2) Indus Valley Civilization
Te TTEY Fezrar
3) Persian Civilization
ThIRY ¥l
4) Egyptian Civilization
4T

Correct Answer: Indus Valley Civilization

e wrél Fozrar

Candidate Answer: Indus Valley Civilization

e wrél Fozrar

!

QID : 268 - Who is also known as 'Light of Asia'?
g "uf v ot vremier' oft gt STaT 82

Options:

1) Gautam Buddha
M| g5

2) Jesus Christ
ERIKSIR

3) Prophet Mohammad
TR ggwe

4) Swami Vivekanand

Correct Answer: Gautam Buddha
T g5
Candidate Answer: Gautam Buddha

A g5

QID : 269 - What are the imaginary lines touching both the poles of earth called?

qeef} & ST ¢l el @t aTell Shieuf-ieh TS T hgelle! 57
Options:

1) Latitudes

ST&TTRT

2) Longitudes

MR

3) Isobars

GHETe @G

4) Isotherms

AT @Y



Correct Answer: Longitudes
AR

Candidate Answer: Longitudes
AR

QID : 270 - On which of the following date, summer solstice is observed in Northern Hemisphere?

fFafafea 3 9 frg fofd = S5 Mo, 7 et sraaia &t 3T ST 82
Options:

1) 21st June

VARG G

2) 5th August

5 3T

3) 18th July

18 Jerg

4) 19th December

19 fegeR

Correct Answer: 21st June
2157

Candidate Answer: 21st June

2157

QID : 271 - Which of the following pair is CORRECT?

Freferfea & & o & g w22

Options:

1) 49th parallel — United States of America and Canada
49 3 FAMFTER — AGh 5T HAREAT AT HATST

2) 38th parallel — China and North Korea

38 gf FHATR — T JUT IR

3) Durand Line - India and Afghanistan

TS @ — IR AT TR

4) Radcliffe Line — India and Sri lanka

LSfeRath @1 - WRa e S

Correct Answer: 49th parallel - United States of America and Canada
49 3 GHHTR — Ygh T AT qAT HATST

Candidate Answer: Durand Line - India and Afghanistan

T3S @M ~ YR AT AW

QID : 272 - Near coastal areas, temperature on land in night time gets re

T &1 & fere ____ 3 SRT 1 o THA 9fH UR ATIHT A 8 STt

Options:

1) Land breeze

¥ FHR

2) Sea breeze

g gk

3) Both land and sea breeze

o4 qUT T TR &A1

4) Sparsely populated coasts
[ IR &

Correct Answer: Land breeze
o THR

Candidate Answer: Sea breeze

g ok

QID : 273 - Which of the following wind is also known as 'Snow Eater'?

fFrafafaa 8 @ o d gar 'Tth were' & A @ off S STt 82
Options:

1) Mistral

2) Chinook

3) Loo
<

4) Harmattan

Correct Answer: Chinook

Candidate Answer: Chinook



QID : 274 - Turmeric is a modified _____.

BRI UH IUART ____ 8l

Options:
1) Stem
Gl

2) Root
NS

3) .Le_aves
4) Fruit
el

Correct Answer: Stem
GEil

Candidate Answer: Root
SIS

QID : 275 - Which of the following cell organelle is present in both plant and animal cell?

frafafea & § o &t i sireh aeeafa T ug) Hifet 1 & ST giar 82

Options:
1) Cell wall
et AR

2) Lysosomes
SREEIK)

3) Chloroplasts
gRaeas

4) Mitochondria
Correct Answer: Mitochondria

Candidate Answer: Lysosomes
SRS

QID : 276 - What is the nature of cell membrane?

AT Breeht Y vl arm 82

Options:
1) Permeable
U=

2) Semi-permeable
37¢ef U=

3) Non-permeable
R U=

4) Freely permeable
TS R

Correct Answer: Semi-permeable
3ref g

Candidate Answer: Semi-permeable
31¢f U=

QID : 277 - Which of the following is the longest bo

frfafed # § o € Ara R A gad @& g8l 82

Options:

1) Forearm bone
g & chetls HY ggr
2) Chest bone
BTl HT Eg

3) Femur bone
g 6 ggt

4) Shoulder bone
EBEIES

Correct Answer: Femur bone
SiTer Y g gt

Candidate Answer: Femur bone
SiTer Y g gt

QID : 278 - What is the main function of white blood cells (WBC's)?

I I ThITRARIS T & T T 82



Options:
1) To transport oxygen

2) To fight against infection
TehAUT T AST

3) Blood clotting

<h <hl Yckehl STHAT

4) To provide red colour to blood
T<h T AT T T heAT

Correct Answer: To fight against infection
TehAUT § AST

Candidate Answer: To fight against infection
TehAUT § AST

QID : 279 - Arrangement of leaves in a plant is called as

e &y ufrat i e wr CEESIGIE]

Options:
1) Phyllotaxy
LAEIRC)

2) Phototaxy

iRl

3) Phytotaxy

rgeldadt

4) Lianataxy

fremTe et

Correct Answer: Phyllotaxy

Candidate Answer: [ NOT ANSWERED |

QID : 280 - Law of Inertia is also knownas ____.

Seard o e N amgr S gl

Options:

1) Newton's fist law of motion
e o1 Tfd <A1 g e

2) Newton's second law of motion
e ol i ol g e

3) Newton's third law of motion
e o1 i a1 Jofta e

4) None of these

9§ S e

Correct Answer: Newton's fist law of motion
Y AT BT TH

Candidate Answer: Newton's second law of mo:

e a1 TIfd @ et e

QID : 281 - Surface water of a lake is about to freeze. Wh mperature (in 0C) of water at the bottom of the lake?

Teh giieT Y Gelg o1 Ut ST € arert 21 it & il S UR Uil et araAr (OC &) g
Options:

1)0

2)-1

3)1

4)4

Correct Answer: 1

Candidate Answer: 0

QID : 282 - By the use of photovoltaic cell while converting solar energy which of the following is produced?

TSI G Tt o TNT § TR Foit o FUT=R0T & ERM fAmfafed # @ fhgent Iaume gar 82

Options:
1) Light energy
ECaNip]

2) Electric energy
[ERGEAI]

3) Chemical energy
TR et

4) Heat energy
Fufg St

Correct Answer: Electric energy
[ERGEAI]
Candidate Answer: Electric energy

e wroit



QID : 283 - Hydraulic brakes used in automatic vehicles is direct virtual application of which law?

wanferd argAt § gaanford sl T SUAT axgd: foRe e et e srgpriT 82

Options:

1) Pascal's law

TRt T e

2) Archemedes' principle

3) Newton's law
e ot |

4) Boyle's law
a1 o

Correct Answer: Pascal's law
UT&hel T

Candidate Answer: [ NOT ANSWERED ]|

QID : 284 - Which among the following is/are input devices?

I. Keyboard
Il. Scanner
I1l. Joy-stick

Frerfoifa & @ o a1 e Rearew 22

|.

Il &R

1. Safees
Options:
1) land Il
lqurll

2) Il and Il
Il e
3)land Il

Iaar il

4) All options are correct.
i T Fgr 8 |

Correct Answer: All options are correct.

gft fArea gt & |

Candidate Answer: All options are correct.

gft fArea agi & |

QID : 285 - Which among the following is a light sensitive device ertifig images to their digital form?
frafafea 3 @ @ ge Aerht Gadeasfia aa g St &y ?

Options:
1) Printer
ez

2) Monitor
AR

3) Scanner
4) RAM

e

Correct Answer: Scanner

Candidate Answer: Scanner

QID : 286 - Which of the following elements are commonly found in most fertilizers?

f=fefaa d o9 @ aa gmrad: sifdenisr Iaen! J ure S1a 82

Options:

1) Sodium, Potassium, Phosphorus
| OrefRvm,

2) Sodium, Potassium, Calcium

qifegm, ure e, Shfckram

3) Nitrogen, Potassium, Phosphorus
| TR, mrRmRE

4) Nitrogen, Potassium, Calcium
, ‘Zﬁifﬂ'ﬂl'q, o

Correct Answer: Nitrogen, Potassium, Phosphorus
| OrefRw,

Candidate Answer: [ NOT ANSWERED ]



QID : 287 - Which of the following is used as moderator in atomic reactor?
fafafea § @ fohgen Iugi oz gt (Ruaes) & Afeder &t avg wai forar Sirar 82
Options:

1) Sodium

wifeaw

2) Uranium

3) Graphite

wrse

4) Boron

Correct Answer: Graphite

Candidate Answer: Graphite

QID : 288 - '0il of vitriol' is the common name of which of the following?

frafafea & 9 frge wmm am ‘i (figker o1 da) &2
Options:
1) Nitric Acid
EIE] EEF 3T
2) Carbonic Acid
RIaTeh ST
3) Acetic Acid
3T
4) Sulphuric Acid
HeRIR TR

Correct Answer: Sulphuric Acid
HeRIRE TR

Candidate Answer: [ NOT ANSWERED ] >

QID : 289 - Which among the following acid is also known as 'Muriatic Acid'? /

frafafea & @ o a1 ot '"gRufees st & a1 § oft ST 1T 82

Options:

1) Hydrochloric Acid
3T

2) Sulphuric Acid

TR S

3) Carbonic Acid

PTEIR Se

4) Nitric Acid
rsfeen ot

Correct Answer: Hydrochloric Acid
3T+

Candidate Answer: [ NOT ANSWERED ]

QID : 290 - What is a Vermicompost?

Fffehuiee =T 8?7
Options:
1) Organic fertilizer

2) Inorganic fertilizer
3t aveh

3) Toxic Substance
STgdel de

4) Type of soil

28 &1 yR

Correct Answer: Organic fertilizer

S IRkw
Candidate Answer: [ NOT ANSWERED ]|

QID : 291 - Plants which can survive in very less water are called as

Fgd FA U A Siifda @R a dieff et _____ &g 81




Options:
1) Halophytes

2) Xerophytes

aEige

3) Heliophytes

Tauifgs

4) Saprophytes

Hdstar

Correct Answer: Xerophytes

Candidate Answer: [ NOT ANSWERED ]

QID : 292 - Which among the following represents plateau phase in population?

frefafea & § & See HY UsR sraeen S garfar 82
Options:

1) Birth rate and Death rate are equal

STH & JUT g & SRR &

2) Birth rate and death rate are not equal

T &R YT Jeg & TRER A 8

3) Birth rate is higher than death rate

SR, g RY

4) Death rate is more than birth rate

I R, TA R A& g
Correct Answer: Birth rate and Death rate are equal {

ST TR qT g & SRR &
Candidate Answer: [ NOT ANSWERED ]

QID : 293 - Programme for capacity building of Elected Women Representatives (EWRs) of panchayats héeen%nc ed at .
Yarad &t Faffa afger ofafafdat & emar fmfoy/afsg & forg g AR TR - N\

Options:
1) Nagaur, Rajasthan
] (/ e L o
2) Ranchi, Jharkhand
I, RS
3) Patna, Bihar "
e, faER
4) Lucknow, Uttar Pradesh
TGS, IR TR
Correct Answer: Ranchi, Jharkhand
A, IREvs

Candidate Answer: [ NOT ANSWERED ]|

QID : 294 - Who invented computer?

IR o AR foRe foRam?
Options:

1) Alexander Fleming

2) Charles Babbage
EEEE

3) Bill Gates

ES

4) Michael Faraday
AT RIS

Correct Answer: Charles Babbage

e el

Candidate Answer: Charles Babbage

QID : 295 - Which of the following pair is CORRECT?

Freforfla & @ o & g o 22

Options:
1) Snooker — Cue

TP -
2) Golf - Pole
e — Ui

3) Rugby - Bat
&t — e

4) Squash - Net
T -



Correct Answer: Snooker — Cue
TP -H
Candidate Answer: Snooker — Cue
TP -
QID : 296 -

Match the following.

Teatrag &1 Fema Hifam)

Festival / caltgx

1. Onam
ot

2.  Kuchipudi
FragET

3. Pongal
ufarer

4. Gudipadwa

?Iﬁl usdr
Options:
1) 1-c, 2-a, 3-b, 4-d
2) 1-d, 2-b, 3-c, 4-a
3) 1-b, 2-a, 3-d, 4-c

4) 1-d, 2-c, 3-d, 4-a
Correct Answer: 1-d, 2-b, 3-c, 4-a
Candidate Answer: 1-d, 2-c, 3-d, 4-a

QID : 297 - Who among the following is not a recipient of

frffeadd e O T S a4 2016 &

Options:
1) Jean - Pierre Sauvage

2) Sir J. Fraser Stoddart
W, ThoR Tseré

3) Bernard L. Feringa
TS Tt iR

4) John M. Kosterlitz
ST TH.
Correct Answer: John M. Kosterlitz
St . 4

Candidate Answer: [ NOT ANSWERED ]|

=)

State / =T
Maharashtra
FETE

Andhra Pradesh
TSI TeRT
Tamil Nadu

Kerala

i O .
é\f)

leld of Chemistry?

QID : 298 - 'Life on my terms: from the grassroots to the corridors of power' is an autobiography of .

TS ST ATS THR: T & TTHEC ¢ & PIRSIY A1t UfdR _____ Tl STTeHeRAT 3

Options:
1) P. Chidambaram
bt RéerA

2) Jaswant Singh
Srged i

3) Sharad Pawar

MW UarR

4) L.K. Advani

el . Ssaroft

Correct Answer: Sharad Pawar
MW UarR

Candidate Answer: [ NOT ANSWERED ]



QID : 299 - The 'One belt, One road' summit was held in which of the following cities?

‘g dee g S’ FARR guier FRafaf@a & @ fofg e & emaifSia foren mar am 2
Options:

1) Shanghai

<TETg

2) Beijing

ifShr

3) Guangzhou

TSR

4) Hangzhou

givsit

Correct Answer: Beijing

Candidate Answer: [ NOT ANSWERED ]

QID : 300 - Maitree Express' is an international train between India and

Bft Too RA aur & o1 Tap SRR Tt 21
Options:

1) Pakistan

TR

2) Bhutan

YA

3) Bangladesh
ST

4) Nepal

U

Correct Answer: Bangladesh
ELSicall

Candidate Answer: Nepal

QID : 301 - If N = (V7 - v5)/(¥7 + V5), then what is the value of 1/N?

g N = (V7 - v5)/(V7 + V5) &, at 1/N ol A1 & &7

Options:
1) 6-v35

2)6+v35
3)7+v35

4)7-v35
Correct Answer: 6 + V35
Candidate Answer: 6 + V35

QID : 302 - The sum of three consecutive by .

A AT g ST T Ot @ gasn

Options:
1)12

2)6
3)18

4) 24
Correct Answer: 6
Candidate Answer: 6

QID : 303 - How many positive factors of 24 are there?

24 % fahd™t eFTeHdh TUTIch &2

Options:
1)3

2)4
3)6

4)8
Correct Answer: 8
Candidate Answer: 8



QID : 304 - 4/5 part of a tank is filled with oil. After taking out 42 litres of oil the tank is 3/4 part full. What is the capacity (in litres) of the tank?

eh el T 4/5 AT det § ¥R gl 81 42 ofiex AT FAahret A7t & a1g Eeht ot 3/4 1T o1 T@T &1 ht Y e (cfier &) o gifi?
Options:

4) 1680
Correct Answer: 840
Candidate Answer: 840

QID : 305 - What is the largest four digit number which is a perfect square?

TR el A I8 D f 7S & IS e § i g guf ot g7

Options:

1) 9704

2) 9801

3) 9901

4) 9999

Correct Answer: 9801

Candidate Answer: [ NOT ANSWERED ]

QID : 306 - Two inlet pipes can fill a cistern in 20 and 24 hours respectively and an outlet pipe can empty 160 gallons of water per hour. All the three pipes working
together can fill the empty cistern in 40 hours. What is the capacity (in gallons) of the tank?

&l Tl Ueh ehl oY ShAsT: 20 TUT 24 6 B ¥R Yehd & 3R Ueh el 7e7 Tah 62 & 160 At UT-T Welt e Tehall &1 Teh T A1 o7 Wil bl il 40 ©E H 9R Toha &1 Eeht dhY &THaT
(e #) fraeit &2 T

Options:
1) 1200

VUCE
2) 2400
3) 3600
4) 1800 e N

Correct Answer: 2400
Candidate Answer: [ NOT ANSWERED ]|

Vi v

QID : 307 - P alone can complete the work in 5 days, Q alone can do same work i
work and earn Rs 5400. What is the share of R?

P 1ot it e aht 5 AT H U1 e FehdT 8, Q 3dhetT I i @t 6 AT A qr1 e
5400 ¥. AT &1 R o1 fgwam & ghmm?

Options:
1) 1000
2) 1200
3) 1500
4) 1800

Correct Answer: 1000
Candidate Answer: 1000

s(;nd R a}ne can do the same work in 12 days. They jointly complete the

I & ot 12 et # Q1 R TehdT 61 3 Goh 1Y S bl QRT A 8 T

QID : 308 - After giving two successive discounts of 20% a

20% T 25% i &l ThiHh Pe & & THTd Yok AT5iched ehl 4200 3. H = ST1a1 81 A1sfonet o1 Sifchd 14ed (3. #) Fa1 82

Options:
1) 7200

cycle is sold for Rs 4200. What is the marked price (in Rs) of the cycle?

2) 7000
3) 6500

4) 6200
Correct Answer: 7000
Candidate Answer: 7000

QID : 309 - The marked price of an article is 60% more than its cost price. What should be the discount (in %) offered by the shopkeeper so that he earns a profit of
12%?

e g ol Sifchd o8 I8 o Hed § 60% 31T &1 fRaT B (% H) 37 TR GHMER I 12% T AT UTed §ITT?
Options:

Correct Answer: 30
Candidate Answer: 30



QID : 310 - The ratio of the speed of P, Q and Ris 10: 12: 15 respectively. What is the ratio of the time taken by P, Q and R respectively to cover the same distance?

P, Q T R &Y 71fdY AT S1uTal sher: 10 : 122 15 &1 T &) 9 et o ford ShAsT: P, Q @7 R gRT ford 718 993 ot SuTd T 872

Options:
1)10:12:15

2)15:12:10
3)6:5:4

4)4:5:6
Correct Answer:6:5:4
Candidate Answer: 6:5: 4

QID : 311 - Three bottles of equal capacity are containing a mixture of milk and water inratio2:1,3:7 and 4 : 11 respectively. These three bottles are emptied into a
large bottle. What is the ratio of milk and water respectively in this large bottle?

& G e Y Siaen § gu aT Tt 3 Ao T srguTd shAl: 201,31 7 AT 42 11 &1 39 i Siaell ol Uen 9t Siae B @relt o e ST &1 St st | shEsn: Y auT urHt
ST fohaT 82

Options:

1)37:53

2)37:90

3)37:30

4)7:30

Correct Answer: 37 : 53

Candidate Answer: 37 : 53

QID : 312 - The average of 11 results is 182. If the average of first 6 results is 199 and that of the last 6 results i 6[, then what will be the 6t result?

11 ulRomat fi sitaa 182 &1 afe wm 6 afRomat di sitwa 199 & T sifaw 6 gRomt i siwa 161 &, at 6 af
Options:

1)79
2)118.5 ( )
3) 158

4) 237 (/ ) N

Correct Answer: 158
Candidate Answer: 158

QID : 313 - The average of 45 results was calculated as 27 but later it was fou
average?
45 gRRumat e eftea 27 uRenfera foram mam a1 @t ag & g uar Ter

Options:
1) 25.8

alculating 39 was taken as 93 by mistake, then what will be the correct

oY 39 & 5ot 93 o forar ma o, It et sftad R g m?

2)26.8
3)27.2

4) 28.2
Correct Answer: 25.8
Candidate Answer: 25.8

QID : 314 - A shopkeeper professes to sell his goods at'¢ost price but uses a 960 gm weight instead of 1 kilogram weight. What is the profit percentage of the
shopkeeper?

Ueh GhIMGR 30 |1 i 3 Hed UR S ol STaT el & oifch a8 eh foh.TT. o e 3 T WR 960 UTH o ST ST TRINT Sl 6 | GEIGR ol a1 Ifasrd m 8?2

Options:

1)
1
4_
6

2)



Correct Answer:

1
4_
6

Candidate Answer:
1

4
6

QID : 315 - A person sold a book for Rs 21 and got a loss percentage which was numerically equal to the cost price. What is the cost price (in Rs) of the book?

Ueh fth 21 %. § Uk hare SFaT & am oeT o1 Sit ufierd UTe gl & 9t TR shd Jed & sRIeR 8, af fohare ol v e (3 H) @ 82

Options:

1) 30

2)70

3) Both 30 and 70
30 qur 70 AHT

4) Cannot be determined
1 A fonaT ST Fehal

Correct Answer: Both 30 and 70
30 d2m 70 &Y

Candidate Answer: 30

QID : 316 - If length of a rectangle is increased by 10% and breadth is increased by 15%, then what will be the percentage increase in the area of rectangle?

& Yeh NI hl TS H 10% i i qT A1STS A 15% <l gieg chl STt 8, At 31T o St | fha afasrd & gfeg

Options:
1) 25.5

2) 25

3)28.4

4) 26.5
Correct Answer: 26.5
Candidate Answer: 26.5

QID : 317 - If the base of triangle is increased by 10% and height is decreased eRWhat will be the percentage change in the area of a triangle?

& Yeh BN & SMUR | 10% & i T STt § TuUT SaTs A 20% Y H] i et # fohaT Tfcrerd &1 uRae gim?
Options:

4)12
Correct Answer: 12
Candidate Answer: 12

QID : 318 - A bus starts running with some initial speed and its speed increases every hour by 9 km/hr. If it takes 11 hours to cover a distance of 572 km, then what
was the initial speed (in km/hr) of the bus?

T 99 SO HRINeh 1T § T STR il § AT ST il 1 Tdeh o 7 9 for.+ft. ufay a1 Y g 1t 81 afk @ 572 fonoft. v g ot 11 & A T o aelt 8, ot o9 ot wmfyes wifiy
(fp.#ft. wfay et ) rm off?

Options:

1)3.5

2)7

3)10.5

4)14

Correct Answer: 7

Candidate Answer: [ NOT ANSWERED ]|



QID:319-
A boat goes 15 km upstream and 22 km
downstream in 5 hours. It goes 20 km upstream and

% km downstream in g hours. What is the speed

(in km/hr) of stream?

T ag 5 ue # 15 TR arr & ufage Jwr 22
ﬁﬁ.ﬁ.wﬁwm%lﬁgdﬁﬁzo
ﬁs.#r.waiuﬁwﬁm%ﬁﬁ.mwaa

el St &1 9T @& afy fEa ufy wer #)
FT B

Options:

1)3

2)5

3)8
4)11
Correct Answer: 3
Candidate Answer: [ NOT ANSWERED | Q
ears, it will become 64 times?

QID : 320 - If a certain sum becomes 4 times in 4 years at compound interest, then i

I Tongfeg STST UR 9IS 718 hlS &FRIMY 4 aut & 4 771 g1 el 8, ot foha awf a8 64
Options:
15
2)12
3)16

4)24
Correct Answer: 12
Candidate Answer: 12

QID : 321 - What is the simple interest on of 14% per annum?

7200 3 R 7 a9 & 14% ufdad &Y &= I Iramor

Options:
1) 6800
2) 6812
3) 7056
4) 7096

Correct Answer: 7056
Candidate Answer: 7056



QID : 322 -

The table given below shows the marks obtained by
six students in 5 different subjects.

&ir=r &Y 91 aferenT # o ot e 5 Twat # uia e
31T 37eRT <hT SRITAT T1AT &

Subject / ferar

Student g 4 " =
o Q

A 72 75 80 82 93

B 87 94 78 87 95

iz 68 79 55 91 72

D 55 69 74 81 76

E 74 88 83 93 87

F 86 92 95 81 82

Maximum marks for each subject is 100.

Ucls foww & forr sfQead 3F 100§

What are the total marks obtained by student D in all subjects?

B D gr1 9+t fawal & v foRg Qe siek fohamt &7

Options:
1) 343

2) 355
3) 338

4) 362
Correct Answer: 355
Candidate Answer: 355




QID : 323 -

The table given below shows the marks obtained by

six students in 5 different subjects.

&ir=r &Y 91 aferenT # o ot e 5 Twat # uia e

T 37ehT T ST a7 B
Subject / ferar
Student g 4 " =
GE] Q
A 72 75 80 82 93
B 87 94 78 87 g5
C 68 79 55 91 F2
D 55 69 74 81 76
E 74 88 83 93 87
F 86 92 a5 81 82

Maximum marks for each subject is 100.

Ucls foww & forr sfQead 3F 100§

What is the average of total marks obtained by all six students in subject R?

v R & it 58 o gR1 T R TG ghet sient T sftad o 82

Options:
1)77.5

2)76.2
3)93

4)83.4
Correct Answer: 77.5
Candidate Answer: 77.5

<



QID : 324 -

The table given below shows the marks obtained by

six students in 5 different subjects.

&ir=r &Y 91 aferenT # o ot e 5 Twat # uia e

T 37ehT T ST a7 B
Subject / ferar
Student g 4 " =
GE] Q
A 72 75 80 82 93
B 87 94 78 87 g5
C 68 79 55 91 F2
D 55 69 74 81 76
E 74 88 83 93 87
F 86 92 a5 81 82

Maximum marks for each subject is 100.

Ucls foww & forr sfQead 3F 100§

What is the aggregate percentage of marks obtained by student C in all the five subjects

B C gr1 goft uia fawat & ure &Y 718 sfepl &Y sfiaa ufasra @ g2

Options:

Correct Answer: 73
Candidate Answer: 73

<




QID : 325 -

The table given below shows the marks obtained by
six students in 5 different subjects.

&ir=r &Y 91 aferenT # o ot e 5 Twat # uia e

T 37ehT T ST a7 B
Subject / ferar
Student g 4 " =
GE] Q
A 72 75 80 82 93
B 87 94 78 87 g5
C 68 79 55 91 F2
D 55 69 74 81 76
E 74 88 83 93 87
F 86 92 a5 81 82

Maximum marks for each subject is 100.

Marks obtained by student B is how much percent more than the marks obtained by A?

BT B gRT T fohg 17U 3ieh BT A gRT UT o 71U 3ieh & foha=t ufaRra sifdres 82

Options:
1)8.3

e faug & fom 31ead A 1008 ( ( -

2)7.4
3)9.7

4)11.1
Correct Answer: 9.7
Candidate Answer: 9.7

QID : 326 - The perimeter of base of a right circular cone eight of the cone is 48 cm, then what is the total surface area (in cm?) of the cone?

ek o1l il Qi ok SMTYR o aRRaTg 88 A4, &1 af s il e 48 .. &, Y s5m ot qefty et (7.2 F) @2
Options:
1) 2200
2) 1100
3) 2354
4) 2816

Correct Answer: 2816
Candidate Answer: 2816

QID : 327 - What is the length of the longest rod that can be placed in a room which is 3 metres long, 4 metres broad and 5 metres high?

Ueh 3 Hiex ivaTd, 4 Hiex diers ok 5 Hiex Fars aret R | T i areft Tedt ol wg Y ovas @ ghfi?
Options:

1)5

2)12

3) 5v2

4) 6v2

Correct Answer: 5v2
Candidate Answer: 5v2
QID : 328 - If the area of a square is 48, then what is the diagonal of the square?

Tfe Teh ot o ST 48 &, dt aif o1 fenof r ghm?



Options:
1) 46

2) 4v3
3) 4v2

4) 376
Correct Answer: 4v6
Candidate Answer: 4v6

QID : 329 - A cylindrical well of height 20 metres and radius 14 metres is dug in a field 72 metres long and 44 metres wide. The earth taken out is spread evenly on the
field. What is the increase (in metre) in the level of the field?

72 Hiex didt a1 44 Hiex 918 @ # Goh 20 Hiex TERE qT 14 Hiex Bswt aret IR $U w @lal T §Y § et 1S A Al @ § Ue 99 ®U @ therrar T 8 194 & R A
fohat Tgiast (e #) gt srgeft?

Options:

1) 6.67

2) 3.56

3) 5.61

4) 4.83

Correct Answer: 4.83

Candidate Answer: 4.83

QID : 330 - Radius of hemisphere is thrice than that of a sphere. What is the ratio of total surface area of hemisphere to that of sphere?

Te el Y e gk et <t e § Rt 81 sTeiet @ et & et qEi eThet el S1UTd R ERTI?
Options:

1)27:8

2)21:4

3)27:4

4)6:1

Correct Answer: 27 : 4

Candidate Answer: 27 : 4

QID : 331 - If x +y = 4, then what is the value of X3 + y3 +12xy?

TR x +y =48, A x3 +y3 + 12xy I A &1 ghIT?
Options:

1) 16

2)32

3)64

4) 256

Correct Answer: 64
Candidate Answer: 64

QD :332-
If x‘1+14=198 and x > 0, then what 1"the value of
X
x-15
2
Ilﬁ;x4+i=‘f98 Jurx =0 @, ar 5 X e et
x* X2
FT B
Options:
1)14
2) 2v7
3)10v2
410

Correct Answer: 14
Candidate Answer: 14

QID : 333 - If 3x - [1/(3X)] = 9, then what is the value of x2 + [1/(81x2)]?

T 3x = [1/(3%)] = 9 &, &t X2 + [1/(81x2)] &1 AT a1 gWT?



Options:

17

2) 83/9

3) 11

4)121/9

Correct Answer: 83/9

Candidate Answer: 83/9

QID:334-Ifx3-y3 =112 and x - y = 4, then what is the value of x2 + y2?

gl x3 - y3 = 112U x - y = 4 8, @t x2 + y2 o1 71 T ghT?
Options:

116

2) 20

3)24

4)28

Correct Answer: 24

Candidate Answer: [ NOT ANSWERED ]

QID: 335 -

If x= S—J,then whist i the veikis of 25+ L2
X x°

uﬁ;x=5—% o, ar x5+% T HT FAT €7

Options:

1) 625

2)3125

3) 2525

4) 2500

Correct Answer: 2525
Candidate Answer: 2525

QID:336-In AABC, £A: 2B :2C=3:3:4. Aline parallel to BC i s AB and AC at P and Q respectively. What is the value of ZAQP - 2APQ?

AABCH, 2A: 2B:2C=3:3:48I U@ BCH AT P T Q W Wef el &1 2AQP - 2APQ T AT &1 §IT?

Options:
1)12

2)18
3)24

4) 36
Correct Answer: 18
Candidate Answer: 18



QID : 337 -

In the given figure, O is the center of the circle,
ZCAQ =35 and ~CBO =45°. What is the value (in
degrees) of LAOB?

& o2 e # Oga &1 Fg & £CAO =35
ZCBO=45° & ~AOB T A (f2aft #) Far &2

C

Options:

1) 90

2) 110

3) 160 o

4) 130

Correct Answer: 160

Candidate Answer: [ NOT ANSWERED |

QID:338-
In the given figure, APQR is drawn such that
tangent to a circle whose radius is 10
passes through centre of i
the circle. f QR =36 cm,
cm?) of APQR?

& 71 gl A, APQR
F PQ U g & Tud @
B & TW QR F FF A = § fog
R w ug &1 a5 Qr=36T.3. & a1 APQR
& S0 (@2 ) FIT Eem?




Options:
1) 134.5

2) 148
3)166.15

4) 180
Correct Answer: 166.15
Candidate Answer: 180

QID : 339 - The side QR of APQR is produced to S. If zPRS = 105° and 2Q = (1/2)£P, then what is the value of 2P?

APQR & 9[STT QR &t foig S deh sigran T &1 af& £PRS = 105° @7 £Q = (1/2)2P &, at 2P &1 919 &1 gF?

Options:
1) 45

2) 60
3)70

4)75
Correct Answer: 70
Candidate Answer: 70

QID : 340 - The perimeter of an isosceles triangle is 64 cm and each of the equal sides is 5/6 times the base. What ig the area (in cm2) of the triangle?

Teh AT FBryet & aReATT 64 .5 & TUT ITHT AR Tdeh SRTER ST & 5/6 0N &1 Brayet &1 ket (J.74.2 &)

Options:
1) 169

2)192
3)196

4) 184
Correct Answer: 192
Candidate Answer: [ NOT ANSWERED |

QID : 341 -

What is the simplified value of

\/secz B+ cosec?d
2

Options:
1) cosec 26

2) sec? 8
3) cosec 6 sec 8

4)tan @
Correct Answer: cosec 26
Candidate Answer: cosec 6 sec 6

QID: 342 -
24F0
If % = sin 60° + cos 30°, then what is
+tan &

then what is the value of x?

X — xtan?15°
1+ tan? 15°
AT FIT €7

=sin 60° + cos 30° &, AT x &I



Options:
1)2

2)-1
3)-2
a1
Correct Answer: 2
Candidate Answer: 1
QID: 343 -
2sin’ 6-sin®
cos®-2cos’ B

What is the simplified value of

2sin’ 6-sinB
cosB-2cos’ B

FT TIAHT AT F=T §?

Options:
1) tan ©

2)sin @
3) cos 6

4) cot B
Correct Answer: tan 6
Candidate Answer: [ NOT ANSWERED |

QID : 344 - If tan 6 tan 56 = 1, then what is the value of sin 26?

Tf tan 6 tan 56 = 1 &, @Y sin 26 &1 A9 FT8?

Options:
1)0

2)1/2
3)1v2

4) v3/2
Correct Answer: 1/2
Candidate Answer: [ NOT ANSWERED |

N

nd bottom of a tree are 30° and 60° respectively. If the height of the tree is 50 m, then what is

QID : 345 - The angles of elevation of the t
the height of the building?
T O & 2fif e smuR & et gaRa & i

Options:
1) 50v3

o1 60° 31 TS U &t Fams 50 Hiex B, T $ARA i Hars et 87

2)75
3)50(v3+1)

4)75v3
Correct Answer: 75
Candidate Answer: 50v3



QID : 346 -

The given pie chart shows the marks obtained (in
degrees) by a student in different subjects. The total
marks obtained by the student in the examination is
432.

Tr o g7 oy d v oy I e Ruwa #
utE 3Rt (et &) & Sam T ¥ o ERT OdeT
& uE P 3 432%)

Social
Science /

English/
EDE ]

What is the total of marks obtained in Hindi and Maths?

&=t g e & gt fher afek Ty g &7
Options:

1)178

2)172

3)174

4) 182

Correct Answer: 174

Candidate Answer: 174



QID : 347 -

The given pie chart shows the marks obtained (in
degrees) by a student in different subjects. The total
marks obtained by the student in the examination is
432.

Tr o g7 oy d v oy I e Ruwa #
utE 3Rt (et &) & Sam T ¥ o ERT OdeT
& uE P 3 432%)

Social
Science /

70°
English/
EDE ]
Science / 75°
ferser

The marks obtained in science is what percentage of the total marks?

a9 & uTe Sfe et SRl et e Hfderd 87

Options:
1)20.14
2)18.12
3)17.16
4) 19.44

Correct Answer: 19.44
Candidate Answer: 19.44



QID : 348 -

The given pie chart shows the marks obtained (in
degrees) by a student in different subjects. The total
marks obtained by the student in the examination is
432.

Tr o g7 oy d v oy I e Ruwa #
utE 3Rt (et &) & Sam T ¥ o ERT OdeT
& uE P 3 432%)

Social
Science /

70°
English/
EDE ]
Science / 75°
ferser

The marks obtained in Maths is how much percent more than the marks obtained i

TfOrT & UT 3fek qrETSIes AT & ure sieht § fehaw wfaera eifdes 82

Options:

1)7.14

2)14.28

3)9.13 N
4)10.41 \

Correct Answer: 14.28
Candidate Answer: 14.28



QID: 349 -
The given pie chart shows the marks obtained (in
degrees) by a student in different subjects. The total
marks obtained by the student in the examination is
432.

Tr o g7 oy d v oy I e Ruwa #
utE 3Rt (et &) & Sam T ¥ o ERT OdeT
& uE P 3 432%)

Social
Science /

English/
EDE ]

In how many subjects marks obtained are more than the average marks per subje

fora ot & oy afer ot forerat &5 aftaram ofer & arfres 22

Options: @
1)3

2)1

3)2 A

94 K

Correct Answer: 2
Candidate Answer: 2




QID : 350 -

The given pie chart shows the marks obtained (in
degrees) by a student in different subjects. The total
marks obtained by the student in the examination is
432.

Tr o g7 oy d v oy I e Ruwa #
urg 3 (B ) & Zear = & ST g’y udET
& uE P 3 432%)

Social
Science /

English/
D
Science / 75°
[EE T
70°

If the maximum marks per subject is 100, then what is the total marks (in percent

afe ues v # Siflrend™ sies 100 8, aF SfiSh auT gl A1 & et fohae siem (Tfai
Options:

1) 168

2) 68

3)76

4) 84

Correct Answer: 84
Candidate Answer: 84

tainedqdn English and Hindi together?

QID : 351 - In the following question, some part of the sen
a sentence is free from error, select 'No Error'.

e errors. Find out which part of the sentence has an error and select the appropriate option. If

The CEO has decided to visit all the (1)/ departments of the office tomorrow (2)/ evening to review of the situation. (3)/ No Error (4)
Options:
1)1

Correct Answer: 3
Candidate Answer: 3

QID : 352 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate option. If
a sentence is free from error, select 'No Error'.

Neha is a very good fashion (1)/ designer but her designs are not (2)/ easily accessible with the public. (3)/ No Error (4)
Options:

Correct Answer: 3
Candidate Answer: 3

QID : 353 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate option. If
a sentence is free from error, select 'No Error'.

Dr. APJ Abdul Kalam's life was a (1)/ sage of dedication in the (2)/ cause of educational reforms in India. (3)/ No Error (4)



Options:

Correct Answer: 2
Candidate Answer: 2

QID : 354 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate option. If
a sentence is free from error, select 'No Error'.

Ashish was listening (1)/ to a radio when (2)/ Sunita arrived. (3)/ No Error (4)
Options:

1)1

2)2

3)3

44

Correct Answer: 2

Candidate Answer: 2

QID : 355 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate option. If
a sentence is free from error, select 'No Error'.

When the professors are on strike (1)/ and a notice of this effect is pasted on the university gate (2)/ there is no sense to go there. (3)/ No Error (4)
Options:

Correct Answer: 3
Candidate Answer: 3

o’ N N

QID : 356 - In the following question, the sentence given with blank to be filled in with an appropriéite word: Séblect the correct alternative out of the four and indicate it
by selecting the appropriate option.

of the five persons will appear in the court.
Options:
1) Any
2) Neither
3) Either
4) Both
Correct Answer: Any
Candidate Answer: Neither

QID : 357 - In the following question, the sent
by selecting the appropriate option.

d in with an appropriate word. Select the correct alternative out of the four and indicate it

the child saw his parents, he became happy.
Options:
1) Where
2) Who
3) When
4) While
Correct Answer: When
Candidate Answer: When

QID : 358 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and indicate it
by selecting the appropriate option.

Ruhika was married Akshay.
Options:

1) with

2) to

3) by

4) off

Correct Answer: to

Candidate Answer: to

QID : 359 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and indicate it
by selecting the appropriate option.

Neha's pay is ____ of her work.
Options:

1) too highly

2) high enough

3) much high

4) enough high



Correct Answer: high enough
Candidate Answer: high enough

QID : 360 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and indicate it
by selecting the appropriate option.

Rahul can _____ the four candles in one breath.
Options:

1) put out

2) put down

3) put up

4) put away

Correct Answer: put out
Candidate Answer: put out

QID : 361 - In the following question, out of the four alternatives, select the word similar in meaning to the word given.

Imbecility
Options:

1) dazzling

2) foolishness
3) desperate
4) flattery

Correct Answer: foolishness
Candidate Answer: foolishness

QID : 362 - In the following question, out of the four alternatives, select the word similar in meaning to the wo giv%.
Somnolent N
Options:

1) irritate .

2) provoke R N
3) drowsy

4) enrage

Correct Answer: drowsy (’ ) NGt

Candidate Answer: drowsy
ahing to the word given.

QID : 363 - In the following question, out of the four alternatives, select the wor

Invidious
Options:

1) mournful
2) slowly

3) indifferent
4) hateful

Correct Answer: hateful
Candidate Answer: hateful

QID : 364 - In the following question, out of the four alterna ect the word similar in meaning to the word given.

Haughty
Options:
1) inborn
2) fearful
3) skillful
4) arrogant

Correct Answer: arrogant
Candidate Answer: arrogant

QID : 365 - In the following question, out of the four alternatives, select the word similar in meaning to the word given.

Lethal

Options:

1) stimulus

2) fatal

3) imaginary

4) bliss

Correct Answer: fatal
Candidate Answer: fatal

QID : 366 - In the following question, out of the four alternatives, select the word opposite in meaning to the word given.

Festal



Options:

1) unpopular

2) solemn

3) merry

4) sharp

Correct Answer: solemn

Candidate Answer: [ NOT ANSWERED ]|

QID : 367 - In the following question, out of the four alternatives, select the word opposite in meaning to the word given.

Slender
Options:

1) stout

2) deceit

3) short

4) inadequate

Correct Answer: stout
Candidate Answer: stout

QID : 368 - In the following question, out of the four alternatives, select the word opposite in meaning to the word given.

Tardy

Options:

1) mild

2) quick

3) hard

4) genuine

Correct Answer: quick

Candidate Answer: [ NOT ANSWERED ]|

-

QID : 369 - In the following question, out of the four alternatives, select the word opposite in meaning to the word)ven.
i w

Attenuate

Options:

1) strong

2) sweet

3) fragrant

4) difficult

Correct Answer: strong
Candidate Answer: difficult

QID : 370 - In the following question, out of the four alternatives, rd@pposite in meaning to the word given.

Extant
Options:

1) forsake

2) endorse

3) destroyed
4) recommend

Correct Answer: destroyed
Candidate Answer: [ NOT ANSWERED ]

QID : 371 - In the following question, out of the four altérnatives, select the alternative which best expresses the meaning of the idiom/phrase.

Lion's mouth

Options:

1) Strict rules

2) Harsh spoken

3) Brave

4) A dangerous situation

Correct Answer: A dangerous situation
Candidate Answer: A dangerous situation

QID : 372 - In the following question, out of the four alternatives, select the alternative which best expresses the meaning of the idiom/phrase.

A stiff-necked person

Options:

1) Honest and open

2) An obstinate person

3) A source of quarrel

4) Ordinary person

Correct Answer: An obstinate person
Candidate Answer: A source of quarrel



QID : 373 - In the following question, out of the four alternatives, select the alternative which best expresses the meaning of the idiom/phrase.

Cross out
Options:

1) Interrupt

2) Summon up
3) Eliminate

4) Inflate

Correct Answer: Eliminate
Candidate Answer: Eliminate

QID : 374 - In the following question, out of the four alternatives, select the alternative which best expresses the meaning of the idiom/phrase.

Make away with

Options:

1) To compensate

2) To remove

3) To find out

4) To understand

Correct Answer: To remove

Candidate Answer: To understand

QID : 375 - In the following question, out of the four alternatives, select the alternative which best expresses the meaning of the idiom/phrase.

To put one out of countenance

Options:

1) To put a difficulty in the way of progress
2) To provoke quarrel

3) To make one feel ashamed

4) To deceive someone b
Correct Answer: To make one feel ashamed )
Candidate Answer: To make one feel ashamed P\
QID : 376 - Improve the bracketed part of the sentence. » )

Practically (every part) of the papaya tree is used by man.
Options:

1) either part

2) each one

3) every one

4) no improvement

Correct Answer: no improvement
Candidate Answer: no improvement

QID : 377 - Improve the bracketed part of the s

Kanika shall be grateful to you if you (are of help) h
Options:

1) help

2) shall help

3) would help

4) no improvement

Correct Answer: help
Candidate Answer: help

QID : 378 - Improve the bracketed part of the sentence.

Shweta unnecessarily (picked up) a quarrel with Kanishk and left the party hurriedly.
Options:

1) picked on

2) picked

3) has picked up

4) no improvement

Correct Answer: picked

Candidate Answer: picked

QID : 379 - Improve the bracketed part of the sentence.

Not a word (she spoke) to the unfortunate mother about it.
Options:

1) did they speak

2) they will speak

3) they had spoken

4) no improvement

Correct Answer: did they speak

Candidate Answer: did they speak



QID : 380 - Improve the bracketed part of the sentence.

Shrey has got many friends because he has got (much money).
Options:

1) a lot of money

2) bags of money

3) enough money

4) no improvement

Correct Answer: a lot of money

Candidate Answer: a lot of money

QID : 381 - In the following question, out of the four alternatives, select the alternative which is best substitute of the phrase.

A state of mental weariness from lack of occupation
Options:

1) hermit

2) ennui

3) heretic

4) indict

Correct Answer: ennui

Candidate Answer: [ NOT ANSWERED |

QID : 382 - In the following question, out of the four alternatives, select the alternative which is best substitute of the phrase.

Options:
1) rapacious
2) bohemian

VUCE
3) dilettante
4) emeritus
W 4t N W »

A dabbler in the art and literature [

Correct Answer: dilettante
Candidate Answer: dilettante

QID : 383 - In the following question, out of the four alternatives, select the alternati wh}éﬁ)i‘s b!jt SubStitute of the phrase.

Being able to pay one's debt
Options:

1) dilettante

2) credible

3) delible

4) solvent

Correct Answer: solvent

Candidate Answer: credible

w

QID : 384 - In the following question, out of the fo t the alternative which is best substitute of the phrase.

One who is subject to failure or to committing mistake
Options:

1) fallible

2) hyperbole

3) hermit

4) incorrigible

Correct Answer: fallible

Candidate Answer: fallible

QID : 385 - In the following question, out of the four alternatives, select the alternative which is best substitute of the phrase.

A short stay in a place
Options:

1) excursion

2) dotage

3) sojourn

4) knell

Correct Answer: sojourn

Candidate Answer: [ NOT ANSWERED ]

QID : 386 - In the following question, four words are given out of which one word is incorrectly spelt. Select the incorrectly spelt word.
Options:

1) carnivorus

2) courageous

3) compulsory

4) conceive

Correct Answer: carnivorus

Candidate Answer: carnivorus



QID : 387 - In the following question, four words are given out of which one word is incorrectly spelt. Select the incorrectly spelt word.
Options:

1) spontaneity

2) acquaintance

3) appropriation

4) liquifiable

Correct Answer: liquifiable

Candidate Answer: spontaneity

QID : 388 - In the following question, four words are given out of which one word is incorrectly spelt. Select the incorrectly spelt word.
Options:

1) bereavement

2) palladium

3) loathsome

4) dysentry

Correct Answer: dysentry

Candidate Answer: dysentry

QID : 389 - In the following question, four words are given out of which one word is incorrectly spelt. Select the incorrectly spelt word.
Options:

1) apartheid

2) exhorbitant

3) mischievous

4) benefited

Correct Answer: exhorbitant

Candidate Answer: mischievous
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QID : 390 - In the following question, four words are given out of which one word is incorrectly spelt. Select the incerregtly spelt word
Options: (

1) repercussion y N N

2) obsolescing

3) sillhoutte )

4) ludicrous P y

Correct Answer: sillhoutte
Candidate Answer: ludicrous

QID : 391 - In the following passage some of the words have been left out. Re:
four alternatives.

e carefully and select the correct answer for the given blank out of the

Science is both a blessing and a . While it has given us ma ing made life better and
has discovered and invented many things to _____ pain and cure ti hese discoveries have enabled man to live a longer and

, it has also given terrible instruments of _____. Science
life.

Science is both a blessing and a .
Options:

1) gift

2) curse

3) compliment

4) source

Correct Answer: curse

Candidate Answer: curse

QID : 392 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

Science is both a blessing and a . While it has given us many things which have made life better and , it has also given terrible instruments of . Science
has discovered and invented many things to pain and cure terrible diseases. These discoveries have enabled man to live a longer and life.

many things which have made life better and ,
Options:

1) terrible

2) challenging

3) happier

4) sophisticated

Correct Answer: happier

Candidate Answer: happier

QID : 393 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

Science is both a blessing and a . While it has given us many things which have made life better and , it has also given terrible instruments of . Science
has discovered and invented many things to pain and cure terrible diseases. These discoveries have enabled man to live a longer and life.

it has also given terrible instruments of .



Options:

1) destruction
2) happiness
3) convenience
4) nature

Correct Answer: destruction
Candidate Answer: destruction

QID : 394 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

Science is both a blessing and a . While it has given us many things which have made life better and , it has also given terrible instruments of . Science
has discovered and invented many things to _____ pain and cure terrible diseases. These discoveries have enabled man to live a longer and _____ life.

discovered and invented many things to ___ pain and cure
Options:

1) aggravate

2) alleviate

3) nurture

4) intensity

Correct Answer: alleviate

Candidate Answer: alleviate

QID : 395 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

Science is both a blessing and a . While it has given us many things which have made life better and , it haé also given terrible instruments of . Science
has discovered and invented many things to pain and cure terrible diseases. These discoveries have enabled ?1an to live a longer and life.

enabled man to live a longer and _____ life. P o

Options: { Y

1) tedious 3 ,)

2) healthier VZ N /

3) productive | \

4) bigger i\ ,}

Correct Answer: healthier V f

Candidate Answer: healthier

. 4

QID : 396 - A passage is given with five questions following it. Read the passa d select the best answer to each question out of the given four

alternatives.

Corruption is not a new phenomenon in India. It has been prevalent in s e ent times. History reveals that it was present even in the Mauryan period.
Great scholar, Kautilya, mentions the pressure of forty types of i temporary society. It was practised even in Mughal and Sultanate period. When
the East India Company took control of the country, corruption rea jght. Corruption in India has become so common that people now are averse to
thinking of public life with it. Corruption has been iousl 7But the simple meaning of it is that corruption implies perversion of morality, integrity,
character or duty out of mercenary motives, i 0 honour, right and justice. In other words, undue favour for any one for some monetary or
other gains is corruption.
Simultaneously, depriving the genuinely deserving
of corruption. Besides, thefts, wastage of public prop
manifestations of corruption.

rivilege is also a corrupt practice. Shrinking from one's duty or dereliction of duty are also forms
ieties of corruption. Dishonesty, exploitation, malpractices, scams and scandals are various

According to the passage, corruptionis ____.
Options:

1) new phenomenon in India

2) insignificant to Indian society

3) prevalent since ancient times

4) prevalent only in middle east countries

Correct Answer: prevalent since ancient times
Candidate Answer: prevalent since ancient times

QID : 397 - A passage is given with five questions following it. Read the passage carefully and select the best answer to each question out of the given four
alternatives.

Corruption is not a new phenomenon in India. It has been prevalent in society since ancient times. History reveals that it was present even in the Mauryan period.
Great scholar, Kautilya, mentions the pressure of forty types of corruption in his contemporary society. It was practised even in Mughal and Sultanate period. When
the East India Company took control of the country, corruption reached new height. Corruption in India has become so common that people now are averse to
thinking of public life with it. Corruption has been defined variously by scholars. But the simple meaning of it is that corruption implies perversion of morality, integrity,
character or duty out of mercenary motives, i.e. bribery, without any regard to honour, right and justice. In other words, undue favour for any one for some monetary or
other gains is corruption.

Simultaneously, depriving the genuinely deserving from their right or privilege is also a corrupt practice. Shrinking from one's duty or dereliction of duty are also forms
of corruption. Besides, thefts, wastage of public property constitute varieties of corruption. Dishonesty, exploitation, malpractices, scams and scandals are various
manifestations of corruption.

Kautilya mentions the pressure of how many types of corruption in his contemporary society?
Options:



Correct Answer: 40
Candidate Answer: 40

QID : 398 - A passage is given with five questions following it. Read the passage carefully and select the best answer to each question out of the given four
alternatives.

Corruption is not a new phenomenon in India. It has been prevalent in society since ancient times. History reveals that it was present even in the Mauryan period.
Great scholar, Kautilya, mentions the pressure of forty types of corruption in his contemporary society. It was practised even in Mughal and Sultanate period. When
the East India Company took control of the country, corruption reached new height. Corruption in India has become so common that people now are averse to
thinking of public life with it. Corruption has been defined variously by scholars. But the simple meaning of it is that corruption implies perversion of morality, integrity,
character or duty out of mercenary motives, i.e. bribery, without any regard to honour, right and justice. In other words, undue favour for any one for some monetary or
other gains is corruption.

Simultaneously, depriving the genuinely deserving from their right or privilege is also a corrupt practice. Shrinking from one's duty or dereliction of duty are also forms
of corruption. Besides, thefts, wastage of public property constitute varieties of corruption. Dishonesty, exploitation, malpractices, scams and scandals are various
manifestations of corruption.

Perversion of what is not mentioned in the passage?
Options:

1) character

2) attitude

3) morality

4) integrity

Correct Answer: attitude

Candidate Answer: attitude

QID : 399 - A passage is given with five questions following it. Read the passage carefully and select the best answer to each question out of the given four
alternatives.

Corruption is not a new phenomenon in India. It has been prevalent in society since ancient times. History reve t}{at it was present even in the Mauryan period.
Great scholar, Kautilya, mentions the pressure of forty types of corruption in his contemporary society. It wasgprac ised even in Mughal and Sultanate period. When
the East India Company took control of the country, corruption reached new height. Corruption in India ha. ‘beco common that people now are averse to
thinking of public life with it. Corruption has been defined variously by scholars. But the simple meaning of it is that corruption implies perversion of morality, integrity,
character or duty out of mercenary motives, i.e. bribery, without any regard to honour, right andjustlce In her wofds, undue favour for any one for some monetary or

other gains is corruption.
Simultaneously, depriving the genuinely deserving from their right or privilege is also a corrupt practice. S |nking from one's duty or dereliction of duty are also forms
of corruption. Besides, thefts, wastage of public property constitute varieties of corruptlon DIShO esty, Ioitation, malpractices, scams and scandals are various

manifestations of corruption.

According to the passage, what all are the manifestation of corruption?
Options:

1) malpractices

2) dishonesty

3) scams and scandals

4) All of these

Correct Answer: All of these

Candidate Answer: All of these

QID : 400 - A passage is given with five question
alternatives.

the passage carefully and select the best answer to each question out of the given four

Corruption is not a new phenomenon in India. It has been ciety since ancient times. History reveals that it was present even in the Mauryan period.
Great scholar, Kautilya, mentions the pressure of forty types orruption in his contemporary society. It was practised even in Mughal and Sultanate period. When
the East India Company took control of the country, corruption reached new height. Corruption in India has become so common that people now are averse to
thinking of public life with it. Corruption has been defined variously by scholars. But the simple meaning of it is that corruption implies perversion of morality, integrity,
character or duty out of mercenary motives, i.e. bribery, without any regard to honour, right and justice. In other words, undue favour for any one for some monetary or
other gains is corruption.

Simultaneously, depriving the genuinely deserving from their right or privilege is also a corrupt practice. Shrinking from one's duty or dereliction of duty are also forms
of corruption. Besides, thefts, wastage of public property constitute varieties of corruption. Dishonesty, exploitation, malpractices, scams and scandals are various
manifestations of corruption.

What people are averse of due to corruption in India?
Options:

1) thinking of stardom

2) thinking of public life

3) thinking of monetary gains

4) thinking of undue favours

Correct Answer: thinking of public life

Candidate Answer: thinking of monetary gains





